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So‌ ‌we‌ ‌have‌ ‌discussed‌‌about‌‌Fanno‌‌flows.‌‌They‌‌are‌‌compressible‌‌1D‌‌flow‌‌with‌‌friction.‌‌We‌‌                             

looked‌ ‌at‌ ‌how‌ ‌they‌‌behave‌‌what‌‌are‌‌their‌‌equations‌‌and‌‌we‌‌solve‌‌the‌‌simple‌‌numerical‌‌in‌‌a‌‌                                 

subsonic‌‌case.‌‌Let‌‌us‌‌solve‌‌a‌‌couple‌‌of‌‌numericals‌‌now.‌‌You‌‌can‌‌also‌‌look‌‌at‌‌what‌‌happens‌‌in‌‌                                   

supersonic‌ ‌case‌ ‌and‌ ‌if‌ ‌there‌ ‌are‌ ‌shocks‌ ‌and‌ ‌so‌ ‌on.‌‌ ‌  

(Refer‌ ‌Slide‌ ‌Time:‌ ‌00:51)‌ ‌ 

‌ 

So,‌‌let‌‌us‌‌look‌‌at‌‌this‌‌problem‌‌a‌‌gas‌‌γ‌‌is‌‌given‌‌γ‌ ‌=1.3,‌‌R‌‌=‌‌287‌‌J/kgK‌‌.‌‌So,‌‌please‌‌make‌‌note‌‌                                             

of‌ ‌γ‌ ‌it‌ ‌is‌‌slightly‌‌different‌‌from‌‌what‌‌we‌‌usually‌‌use.‌‌So,‌‌if‌‌you‌‌are‌‌using‌‌online‌‌calculators‌‌                                   

then‌‌there‌‌is‌‌an‌‌option‌‌to‌‌change‌‌γ‌‌.‌‌So,‌‌at‌‌P‌1‌ ‌=‌‌1‌‌bar‌‌,T‌1‌ ‌=‌‌400‌‌Kelvin.‌‌So,‌‌it‌‌is‌‌given.‌‌So‌‌P‌1‌ ‌is‌‌                                                   

given‌ ‌T‌1‌ ‌is‌ ‌given.‌ ‌Enters‌ ‌a‌ ‌30‌ ‌centimetre‌ ‌diameter‌ ‌duct,‌ ‌duct‌ ‌diameter‌ ‌is‌ ‌given‌ ‌at‌ ‌a‌ ‌Mach‌‌                                 

number‌ ‌of‌ ‌2,‌  ‌M‌1‌‌ ‌is‌ ‌given.‌ ‌So,‌ ‌let‌ ‌us‌ ‌draw‌ ‌the‌ ‌duct.‌‌ ‌  

‌ 

We‌ ‌know,‌ ‌P‌1‌ ‌=‌ ‌1‌ ‌bar‌ ‌,T‌1‌ ‌=‌ ‌400‌ ‌Kelvin‌ ‌and‌ ‌M‌1‌ ‌=2.0.‌ ‌A‌ ‌normal‌ ‌shock‌ ‌occurs‌ ‌at‌ ‌a‌ ‌Mach‌‌                                       

number‌ ‌of‌ ‌1.5.‌ ‌So,‌ ‌it‌ ‌is‌ ‌a‌ ‌Fanno‌ ‌flow‌ ‌with‌ ‌so‌ ‌in‌ ‌supersonic‌ ‌conditions‌ ‌Mach‌ ‌number‌‌                               

decreases.‌‌So,‌‌at‌‌somewhere‌‌in‌‌the‌‌duct‌‌some‌‌location‌‌we‌‌do‌‌not‌‌know‌‌the‌‌location‌‌in‌‌terms‌‌                                 

of‌‌length‌‌but‌‌we‌‌know‌‌the‌‌Mach‌‌number.‌‌Mach‌‌number‌‌is‌‌1.5‌‌at‌‌which‌‌the‌‌shock‌‌occurs.‌‌So,‌‌                                   

let‌‌us‌‌call‌‌this‌‌particular‌‌place‌‌I‌‌call‌‌it‌‌as‌‌x‌‌and‌‌after‌‌the‌‌shock‌‌as‌‌y‌‌and‌‌what‌‌is‌‌known‌‌is‌‌at‌‌                                             

the‌ ‌exit‌ ‌at‌ ‌location‌ ‌2‌ ‌the‌ ‌Mach‌ ‌number‌ ‌is‌ ‌1.‌‌ ‌  



‌ 

So,‌ ‌here‌ ‌exit‌ ‌Mach‌ ‌number‌ ‌M‌2‌ ‌=‌ ‌1.‌‌Very‌‌effective‌‌if‌‌you‌‌are‌‌able‌‌to‌‌draw‌‌a‌‌TS‌‌diagram‌‌of‌‌                                       

this‌‌particular‌‌case.‌‌So,‌‌what‌‌we‌‌are‌‌looking‌‌at‌‌is‌‌essentially‌‌something‌‌of‌‌this‌‌kind‌‌this‌‌is‌‌the‌‌                                   

star‌‌point.‌‌So,‌‌initially‌‌you‌‌started‌‌with‌‌Mach‌‌number‌ ‌of‌‌2.‌‌So,‌‌this‌‌is‌‌point‌‌1‌‌and‌‌follows‌‌the‌‌                                     

Fanno‌‌curve‌‌reaches‌‌a‌‌point‌‌x‌‌where‌‌there‌‌is‌‌a‌‌shock.‌‌So,‌‌the‌‌shock‌‌transfers‌‌the‌‌Fanno‌‌curve.‌‌                                   

So,‌‌the‌‌line‌‌that‌‌is‌‌being‌‌followed‌‌from‌‌x‌‌to‌‌y‌‌which‌‌is‌‌located‌‌on‌‌the‌‌subsonic‌‌branch‌‌of‌‌the‌‌                                       

Fanno‌ ‌curve‌ ‌and‌ ‌it‌ ‌reaches‌ ‌point‌ ‌2‌ ‌which‌ ‌is‌ ‌exactly‌ ‌equal‌ ‌to‌ ‌the‌ ‌star‌ ‌condition.‌‌ ‌  

‌ 

So,‌ ‌it‌ ‌is‌ ‌useful‌ ‌to‌ ‌draw‌ ‌this.‌ ‌If‌ ‌you‌ ‌understand‌ ‌this‌ ‌then,‌ ‌it‌ ‌is‌ ‌once‌ ‌this‌ ‌is‌ ‌understood,‌‌it‌‌is‌‌                                       

reasonably‌ ‌easy‌ ‌to‌ ‌calculate‌ ‌all‌ ‌the‌ ‌other‌ ‌things.‌ ‌Friction‌ ‌coefficient‌ ‌the‌ ‌mean‌ ‌value‌ ‌of‌‌                           

friction‌ ‌coefficient‌ ‌is‌ ‌0.003.‌ ‌So,‌ ‌ ‌=‌ ‌0.003,‌ ‌termed‌ ‌in‌ ‌the‌ ‌lengths‌ ‌of‌ ‌upstream‌ ‌duct‌ ‌and‌           f ′                      

downstream‌ ‌duct‌ ‌or‌ ‌the‌ ‌shock‌ ‌wave.‌ ‌So,‌‌what‌‌is‌‌the‌‌location‌‌of‌‌the‌‌shock‌‌wave?‌‌We‌‌know‌‌                                 

the‌ ‌Mach‌ ‌numbers‌ ‌at‌ ‌which‌ ‌they‌ ‌are‌ ‌located.‌ ‌So,‌ ‌this‌ ‌is‌ ‌at‌ ‌1.5.‌‌ ‌  

‌ 

So,‌‌Mx‌‌=‌‌1.5‌‌.‌‌We‌‌know‌‌this‌‌value.‌‌So,‌‌and‌‌we‌‌also‌‌need‌‌to‌‌find‌‌the‌‌change‌‌in‌‌entropy,‌‌mass‌‌                                         

flow‌‌rate‌‌of‌‌the‌‌gas‌‌and‌‌so‌‌on.‌‌So,‌‌let‌‌us‌‌look‌‌at‌‌this‌‌problem.‌‌Now‌‌so,‌‌we‌‌know‌‌that‌‌normal‌‌                                         

shock‌‌if‌‌it‌‌is‌‌located‌‌at‌‌So,‌‌M‌‌x‌‌=‌‌1.5‌‌then‌‌we‌‌know‌‌My‌‌it‌‌is‌‌a‌‌normal‌‌shock‌‌but‌‌please‌‌make‌‌                                             

sure‌ ‌that‌‌γ‌‌you‌‌change‌‌it‌‌is‌‌1.3,‌‌My‌‌=‌‌0.69‌‌,pressure‌‌ratio‌‌across‌‌the‌‌shock‌‌is‌ ‌ ‌=‌‌2.413‌‌                                  Px
Py       

and‌  ‌  ‌=‌ ‌1.247‌ ‌and‌  ‌  ‌=‌  ‌0.926‌ ‌and‌ ‌we‌ ‌know‌ ‌M‌1‌‌ ‌=‌ ‌2.‌ ‌So,‌ ‌how‌ ‌do‌ ‌we‌ ‌proceed‌ ‌from‌ ‌here?‌‌ ‌Tx
Ty 

P0x
P0y    

(Refer‌ ‌Slide‌ ‌Time:‌ ‌05:42)‌ ‌ 

‌ 

So,‌‌what‌‌we‌‌should‌‌find‌‌out‌‌is‌‌what‌‌is‌‌L‌1‌?‌‌So,‌‌at‌‌Mach‌‌number‌‌equal‌‌to‌‌M‌1‌ ‌=‌‌2.0‌‌the‌‌value‌‌of‌‌                                           

 ‌This‌ ‌is‌ ‌known‌ ‌.You‌ ‌can‌ ‌also‌ ‌make‌ ‌note‌ ‌of,‌ ‌  ‌=‌ ‌0.424‌ ‌,‌  ‌  ‌=0.719‌‌ ‌.357D
4fL*

= 0 P  
P *

T  
T *   



and‌ ‌  ‌=‌ ‌1.773.‌ ‌So,‌ ‌it‌ ‌is‌ ‌better‌ ‌to‌ ‌make‌ ‌note‌ ‌of‌ ‌them.‌ ‌P  0
P 0

*  

‌ 

 ‌And‌ ‌at‌ ‌M‌ ‌x‌ ‌at‌ ‌Mx‌ ‌=‌ ‌1.5.‌‌ ‌  

So,‌ ‌  ‌0.156‌  ‌,‌   ‌  ‌=‌ ‌0.618‌ ‌,‌  ‌  ‌=0.86‌ ‌and‌ ‌  ‌=1.189.‌‌ ‌D
4fL*

= P  
P *

T  
T *

P  0
P 0

*   

‌ 

So,‌ ‌what‌ ‌is‌ ‌the‌ ‌length‌ ‌now‌ ‌before‌ ‌the‌ ‌shock‌ ‌it‌ ‌is‌ ‌easy‌ ‌to‌ ‌find‌ ‌that‌ ‌out.‌‌ ‌  

So,‌ ‌   ‌=‌ ‌  ‌0.201.‌‌ ‌D
4fL   .357   0.156 ∣ 

∣  D
4fL*  ∣ 

∣ 1 −  ∣ 
∣  D

4fL*  ∣ 
∣ x = 0 −   =   

L‌1‌‌ ‌=‌ ‌  ‌=‌ ‌5.2025‌ ‌m‌ ‌4 x 0.003
0.201 x 0.3  

Similarly‌ ‌now‌ ‌across‌ ‌the‌ ‌shock‌ ‌you‌ ‌know‌ ‌the‌ ‌conditions.‌‌ ‌  

Now‌ ‌across‌ ‌the‌ ‌shock‌ ‌the‌ ‌condition‌ ‌is‌ ‌that‌ ‌your‌ ‌Mach‌ ‌number‌ ‌is‌ ‌My‌ ‌=‌ ‌0.69‌ ‌,‌ ‌ 

=‌ ‌0.2525,‌  ‌,‌   ‌  ‌=‌ ‌0.1.501‌ ‌,‌  ‌  ‌=0.1.0733‌  ‌and‌ ‌  ‌=1.1048‌ ‌D
4fL* P  

P *
T  
T *

P  0
P 0

*  

‌ 

‌So,‌ ‌similarly‌ ‌so,‌ ‌downstream‌ ‌it‌ ‌is‌ ‌directly‌ ‌L*.‌ ‌So,‌ ‌we‌‌know‌‌L*.‌‌So,‌‌because‌‌it‌‌is‌‌going‌‌to‌‌                                     

Mach‌ ‌number‌ ‌1‌ ‌at‌ ‌the‌ ‌exit,‌ ‌So,‌ ‌L‌2‌‌ ‌=‌ ‌6.3125‌ ‌meters.‌ ‌So,‌ ‌that‌ ‌solves‌ ‌the‌ ‌problem.‌‌ ‌  

‌ 

The‌ ‌second‌ ‌case‌ ‌is‌ ‌what‌ ‌is‌ ‌mass‌ ‌flow‌ ‌rate.‌ ‌For‌ ‌this‌ ‌you‌ ‌need‌ ‌to‌ ‌know‌ ‌the‌ ‌mass‌ ‌flow‌ ‌rate‌ ‌ 

 ‌  ‌  ‌is‌ ‌known‌ ‌because‌ ‌diameter‌ ‌is‌ ‌given‌ ‌30‌ ‌centimetres‌ ‌or‌ ‌0.3‌ ‌meters.‌‌ ‌ ṁ =   A uρ1 1 1   

‌ ‌=‌ ‌0.076‌ ‌m‌2‌ ‌DA1 =   4
π 2  

Density‌ ‌ ,‌ ‌P‌1‌‌ ‌and‌ ‌T‌1‌‌ ‌are‌ ‌given.‌ ‌So,‌ ‌you‌ ‌can‌ ‌find‌ ‌out‌ ‌ ‌ ‌ρ1  ρ1   

  ‌=‌ ‌0.871‌ ‌kg‌ ‌/m‌3‌‌ ‌ρ1 =   P 1
RT 1

  

What‌‌about‌‌V‌1‌?‌‌V‌1‌ ‌is‌‌a‌‌Mach‌‌number‌‌is‌‌given‌‌2.0‌‌and‌‌ ,‌‌T‌1‌=400‌‌K.‌‌                        a M  M  u1 =   1  1 =   1√γRT 1      

So,‌ ‌substitute‌ ‌all‌ ‌of‌ ‌them‌ ‌here‌ ‌put‌ ‌them‌ ‌and‌ ‌  ‌turns‌ ‌out‌ ‌,‌  ‌ 47.515‌  ‌kg/‌ ‌sec.‌ ‌ ṁ  ṁ =    

(Refer‌ ‌Slide‌ ‌Time:‌ ‌10:46)‌ ‌ 



‌ 

Now‌‌how‌‌to‌‌get‌‌net‌‌change‌‌in‌‌entropy‌ ‌ ‌so,‌‌for‌‌this‌‌we‌‌can‌‌use‌‌or‌ ‌ ‌you‌‌can‌‌use.‌‌It‌‌                Cp
Δ S                 R

Δ S          

should‌ ‌be‌ ‌related‌ ‌to‌ ‌the‌ ‌change‌ ‌in‌ ‌entropy.‌‌ ‌  

=‌ ‌-‌ ‌ln‌ ‌ ‌R
Δ S

P 01

 P  02  

‌So,‌ ‌if‌ ‌you‌ ‌know‌ ‌the‌ ‌total‌ ‌change‌ ‌in‌ ‌ ‌does‌ ‌change‌ ‌or‌ ‌ratio‌‌of‌‌the‌‌stagnation‌‌pressures‌‌                  P 01

 P  02                  

then‌ ‌we‌ ‌can‌ ‌find‌ ‌out‌ ‌what‌ ‌is‌ ‌the‌ ‌entropy‌ ‌change.‌‌ ‌  

‌ 

So,‌ ‌here‌ ‌what‌ ‌are‌ ‌the‌ ‌stagnation‌ ‌changes‌ ‌if‌ ‌you‌ ‌like‌ ‌write‌ ‌ ,‌ ‌this‌ ‌can‌ ‌be‌ ‌expressed‌ ‌as‌‌ ‌P01
P02    

  ‌=‌  ‌  ‌x‌  ‌  ‌x‌     ‌ ‌P 01

 P  02
P 0y

 P  02   P 0x

 P  0y   P 01

 P  0x        

‌ 

‌Where‌‌ ‌comes‌‌from‌‌Fanno‌‌flow‌‌Fanno‌‌curve‌‌or‌‌those‌‌equations‌‌ ‌is‌‌normal‌‌shock‌‌    P 0y

 P  02                       P 0x

 P  0y        

the‌ ‌stagnation‌ ‌pressure‌ ‌ratio‌ ‌across‌ ‌normal‌ ‌shock‌ ‌and‌ ‌ is‌ ‌again‌ ‌by‌ ‌Fanno‌ ‌curve.‌ ‌P 01

 P  0x  

‌ 

Though‌‌you‌‌can‌‌get‌‌these‌‌by‌‌different‌‌you‌‌know‌‌Mach‌‌numbers‌‌at‌‌each‌‌particular‌‌point.‌‌So,‌‌                               

 ‌can‌ ‌be‌ ‌expressed‌ ‌as‌  ‌  ‌=‌ ‌ ‌ ‌  P 0y

 P  02   P 0y

 P  02

P0*
 P  0y

   P0*
 P  02

  

and‌ ‌similarly‌  ‌   ‌=‌ ‌  ‌=‌‌ ‌P 01

 P  0x

P0*
 P  01

   P0*
 P  0x

  

 ‌You‌ ‌can‌ ‌express‌ ‌these‌ ‌all‌ ‌these‌ ‌in‌ ‌terms‌ ‌and‌ ‌finally‌ ‌you‌ ‌can‌ ‌arrive‌ ‌at‌ ‌   ‌=‌ ‌ ‌ ‌P 01

 P  02 e− R
Δ S   

So,‌ ‌ =‌ ‌-‌ ‌ln‌ ‌  ‌=‌ ‌0.576‌ ‌R
Δ S

P 01

 P  02  

‌ 



So,‌‌this‌‌looks‌‌at‌‌a‌‌problem‌‌in‌‌which‌‌we‌‌have‌‌a‌‌supersonic‌‌flow‌‌coming‌‌in‌‌there‌‌is‌‌a‌‌normal‌‌                                     

shock‌‌in‌‌the‌‌middle‌‌of‌‌the‌‌duct‌‌at‌‌some‌‌location‌‌and‌‌finally‌‌at‌‌the‌‌exit‌‌Mach‌‌number‌‌equal‌‌to‌‌                                     

1.‌‌In‌‌these‌‌situations‌‌always‌‌it‌‌is‌‌useful‌‌to‌‌draw‌‌the‌‌TS‌‌diagram‌‌and‌‌then‌‌it‌‌is‌‌very‌‌easy‌‌once‌‌                                       

you‌ ‌know‌ ‌the‌ ‌TS‌ ‌diagram‌ ‌you‌ ‌know‌ ‌what‌ ‌you‌ ‌are‌ ‌looking‌ ‌for.‌ ‌ 

‌ 

And‌‌rest‌‌of‌‌it‌‌is‌‌through‌‌charts‌‌or‌‌you‌‌can‌‌use‌‌the‌‌online‌‌calculators‌‌to‌‌get‌‌the‌‌other‌‌numbers.‌‌                                     

The‌‌essential‌‌concept‌‌one‌‌has‌‌to‌‌understand‌‌the‌‌location‌‌of‌‌shock‌‌and‌‌how‌‌to‌‌represent‌‌it‌‌on‌‌a‌‌                                   

Fanno‌ ‌curve.‌‌ ‌  

(Refer‌ ‌Slide‌ ‌Time:‌ ‌14:26)‌ ‌ 

‌ 

Now‌‌if‌‌you‌‌look‌‌at‌‌the‌‌next‌‌problem‌‌the‌‌stagnation‌‌chamber‌‌of‌‌wind‌‌tunnel‌‌is‌‌connected‌‌to‌‌a‌‌                                   

high‌ ‌pressure‌ ‌air‌ ‌reservoir‌ ‌by‌ ‌a‌ ‌long‌ ‌pipe‌ ‌of‌ ‌100‌ ‌mm‌ ‌diameter.‌ ‌If‌ ‌the‌ ‌static‌ ‌pressure‌ ‌ratio‌‌                                 

between‌ ‌the‌ ‌reservoir‌ ‌and‌ ‌the‌ ‌stagnation‌ ‌chamber‌ ‌is‌ ‌10‌ ‌and‌ ‌the‌ ‌reservoir‌ ‌static‌ ‌pressure‌ ‌is‌‌                             

1.0135‌ ‌x‌ ‌10‌7‌ ‌N/m‌2‌,‌ ‌how‌ ‌long‌‌the‌‌pipe‌‌is‌‌without‌‌choking.‌‌So,‌‌what‌‌should‌‌be‌‌the‌‌length‌‌of‌‌                                   

pipe‌ ‌so‌ ‌that‌ ‌there‌ ‌is‌ ‌no‌ ‌choking.‌ ‌ 

‌ 

Assume‌‌adiabatic‌‌subsonic‌‌one‌‌dimensional‌‌flow‌‌with‌‌a‌‌friction‌‌coefficient‌‌of‌‌0.005.‌‌So,‌‌let‌‌                           

us‌ ‌represent‌ ‌it‌ ‌schematically‌ ‌this‌ ‌is‌ ‌a‌ ‌sort‌ ‌of‌ ‌applied‌ ‌kind‌ ‌of‌ ‌a‌ ‌problem‌ ‌where‌ ‌you‌ ‌are‌‌                                 

considering‌‌wind‌‌tunnels‌‌.‌‌And‌‌we‌‌had‌‌looked‌‌at‌‌how‌‌wind‌‌tunnels‌‌look‌‌like‌‌in‌‌the‌‌previous‌‌                                 

classes.‌ ‌They‌ ‌usually‌ ‌have‌ ‌air‌ ‌reservoirs‌ ‌which‌ ‌are‌ ‌located‌ ‌quite‌ ‌far‌ ‌away‌ ‌from‌ ‌the‌ ‌test‌‌                             

section.‌ ‌So,‌ ‌relevant‌ ‌problem‌ ‌and‌ ‌they‌ ‌are‌ ‌connected‌ ‌by‌ ‌pipes.‌‌ ‌  

‌ 

So,‌ ‌you‌ ‌have‌ ‌a‌ ‌long‌ ‌pipe‌ ‌and‌ ‌this‌ ‌is‌‌air‌‌reservoirs‌‌where‌‌a‌‌large‌‌amount‌‌of‌‌air‌‌is‌‌stored‌‌air‌‌                                       

reservoir‌ ‌and‌ ‌this‌ ‌diameter‌ ‌is‌ ‌given‌ ‌D‌ ‌=‌ ‌100‌ ‌mm‌ ‌and‌ ‌here‌ ‌you‌ ‌have‌ ‌a‌ ‌smaller‌ ‌stagnation‌‌                                 



chamber‌ ‌is‌ ‌a‌ ‌smaller‌ ‌stagnant‌ ‌chamber‌ ‌and‌ ‌then‌ ‌further‌ ‌it‌ ‌goes‌ ‌down.‌ ‌You‌ ‌have‌ ‌the‌ ‌wind‌‌                               

tunnel‌ ‌there.‌ ‌So,‌ ‌what‌ ‌is‌ ‌given‌ ‌is‌ ‌the‌ ‌ratio‌ ‌of‌ ‌pressures‌ ‌across‌ ‌this.‌ ‌Now‌ ‌if‌ ‌you‌ ‌consider‌‌                                 

reservoirs‌ ‌what‌ ‌you‌ ‌would‌ ‌say‌ ‌as‌ ‌static‌ ‌pressure.‌ ‌ 

‌ 

Inside‌ ‌the‌ ‌reservoir‌ ‌the‌ ‌velocities‌ ‌are‌ ‌going‌ ‌to‌‌be‌‌extremely‌‌small.‌‌So,‌‌you‌‌can‌‌almost‌‌take‌‌                               

that‌‌P‌0‌ ‌is‌‌approximately‌‌equal‌‌to‌‌P.‌‌So,‌‌if‌‌this‌‌is‌‌1‌‌and‌‌this‌‌is‌‌2‌‌then‌‌what‌‌you‌‌are‌‌essentially‌‌                                         

given‌‌here‌‌is‌‌P‌01‌ ‌is‌‌approximately‌‌equal‌‌to‌‌P‌1‌ ‌and‌‌P‌02‌ ‌is‌‌very‌‌close‌‌to‌‌P‌2‌ ‌inside‌‌the‌‌reservoir‌‌or‌‌                                       

inside‌‌the‌‌stagnation‌‌chamber‌‌somewhere‌‌at‌‌this‌‌location‌‌you‌‌can‌‌say.‌‌But‌‌please‌‌mind‌‌that‌‌at‌‌                               

the‌ ‌entry‌ ‌to‌ ‌the‌ ‌pipe‌ ‌and‌ ‌the‌ ‌exit‌ ‌to‌ ‌the‌ ‌pipe‌ ‌you‌ ‌can‌ ‌have‌ ‌different‌ ‌static‌ ‌pressures.‌ ‌ 

‌ 

Because‌‌flow‌‌will‌‌obviously‌‌be‌‌coming‌‌in‌‌gushing‌‌in‌‌from‌‌all‌‌directions.‌‌Similarly‌‌flow‌‌will‌‌                             

be‌ ‌exiting‌ ‌over‌‌here.‌‌So,‌‌they‌‌are‌‌not‌‌talking‌‌about‌‌these‌‌entry‌‌points‌‌here‌‌which‌‌is‌‌1‌‌and‌‌2‌‌                                     

for‌‌the‌‌pipe.‌‌What‌‌we‌‌look‌‌for‌‌is‌‌1‌‌and‌‌2‌‌of‌‌the‌‌pipe‌‌but‌‌what‌‌you‌‌are‌‌given‌‌of‌‌course‌‌is‌‌about‌‌                                             

what‌ ‌is‌ ‌there‌ ‌inside‌ ‌the‌ ‌reservoir.‌ ‌So,‌ ‌can‌ ‌we‌ ‌now‌ ‌look‌ ‌at‌ ‌this‌ ‌problem?‌‌ ‌  

(Refer‌ ‌Slide‌ ‌Time:‌ ‌17:34)‌ ‌ 

‌ 

So,‌ ‌what‌ ‌we‌ ‌are‌ ‌given‌ ‌is‌ ‌basically‌ ‌ ‌=‌‌10‌ ‌is‌‌given.‌ ‌Now‌‌we‌‌are‌‌considering‌‌that‌‌what‌‌              P 02

 P  01                      

should‌ ‌be‌ ‌the‌ ‌length‌ ‌that‌ ‌it‌ ‌does‌ ‌not‌ ‌choke.‌ ‌So,‌ ‌what‌ ‌is‌ ‌the‌ ‌maximum‌ ‌limit,‌ ‌maximum‌ ‌limit‌‌ ‌  

Lmax‌ ‌is‌ ‌the‌ ‌point‌ ‌when‌ ‌it‌ ‌chokes.‌ ‌So,‌ ‌M‌ ‌=‌ ‌1,‌ ‌suppose‌ ‌we‌ ‌take‌ ‌the‌ ‌maximum‌ ‌limit‌ ‌that‌ ‌is‌‌ ‌  

Lmax,‌ ‌M‌ ‌=‌ ‌1,‌ ‌any‌ ‌length‌ ‌which‌ ‌is‌‌less‌‌than‌‌Lmax‌‌will‌‌satisfy‌‌that‌‌it‌‌is‌‌not‌‌choked.‌‌So,‌‌we‌‌                                       

take‌ ‌the‌ ‌limiting‌ ‌condition‌ ‌Lmax‌ ‌is.‌ ‌So,‌ ‌this‌ ‌is‌ ‌equal‌ ‌to‌ ‌Lmax.‌‌ ‌  

‌ 



So,‌ ‌Lmax.‌ ‌So,‌ ‌what‌ ‌do‌ ‌we‌ ‌know‌ ‌about‌ ‌that‌ ‌we‌ ‌know‌ ‌that‌ ‌it‌ ‌is‌ ‌ ‌=‌ ‌ ‌1.893‌ ‌or‌ ‌P‌2‌ ‌is‌‌                            P *
P  02     P 2

P  02          

actually‌ ‌P*‌ ‌in‌ ‌this‌ ‌case,‌ ‌this‌ ‌is‌‌equal‌‌to‌‌this‌‌and‌‌ ‌is‌‌given.‌‌And‌‌also‌‌we‌‌know‌‌that‌‌at‌‌2‌‌                      P 02

 P  01                    

Mach‌ ‌number‌ ‌M‌2‌‌ ‌=to‌ ‌1‌ ‌therefore‌ ‌  ‌is‌ ‌also‌ ‌known‌ ‌at,‌ ‌at‌ ‌that‌ ‌particular‌ ‌point.‌‌ ‌P 2

P  02   

‌ ‌x‌  ‌x‌ ‌  ‌=‌  ‌  ‌x‌ ‌10‌ ‌x‌ ‌1.893‌ ‌P *
P  1 =   P  1

P 01 P 02

 P  01
P 2

P  02 P  1
P 01

 

‌ 

From‌ ‌Fanno‌ ‌flow,‌ ‌ 

 P *
P 1 =   1

M 1
[ ( γ+1) 

 2+( γ 1) M− 2
1
] 2

1

 

‌ 

What‌ ‌is‌ ‌ ?‌  ‌ ‌P  1
P 01

 P  1
P 01

=  [ 1
   1+   M( 2

γ 1− 2
1)]

γ
γ 1−

 

‌ 

So,‌ ‌   ‌=‌ ‌  ‌x‌ ‌10‌ ‌x‌ ‌1.893‌ ‌ 1
M 1 [ ( γ+1) 

 2+( γ 1) M− 2
1
] 2

1

 [ 1
   1+   M( 2

γ 1− 2
1)]

γ
γ 1−

 

‌ 

 ‌x‌ ‌   ‌=‌ ‌18.93‌ ‌ 1
M 1

[  2
( γ+1) ] 2

1

 1  M( +   2
γ 1− 2

1)
1

2(γ 1)−  

‌ 

 ‌x‌ ‌  ‌=‌ ‌17.2806‌ ‌ 1
M 1

 1 0.2 M( +   2
1)

1.25  

‌ 

Now‌‌we‌‌know‌‌that‌‌Mach‌‌number‌‌is‌‌extremely‌‌small.‌‌So,‌‌this‌‌of‌‌course‌‌you‌‌have‌‌to‌‌solve‌‌but‌‌                                   

it‌ ‌needs‌ ‌an‌ ‌iterative‌ ‌solution‌ ‌but‌ ‌one‌ ‌fact‌ ‌we‌ ‌know‌‌Mach‌‌number‌‌is‌‌extremely‌‌small‌‌at‌‌the‌‌                                 

entry.‌ ‌ 

‌ 

So‌ ‌ ‌is‌ ‌going‌ ‌to‌ ‌be‌ ‌very‌ ‌small.‌ ‌So,‌ ‌if‌ ‌we‌‌take‌‌that‌‌approximation‌‌then‌‌this‌‌parameter‌‌in‌‌  M 2
1                                  

bracket‌ ‌is‌ ‌going‌ ‌to‌ ‌be‌ ‌1.‌ ‌So,‌ ‌Mach‌ ‌number‌ ‌  ‌will‌ ‌approximately‌ ‌be‌ ‌equal‌ ‌to‌ ‌0.057868.‌‌ ‌M 1   

  ‌≈‌ ‌0.057868‌ ‌.‌‌ ‌M 1   

So,‌ ‌we‌ ‌get‌ ‌a‌‌ballpark‌‌number.‌‌This‌‌is‌‌a‌‌number‌‌where‌‌the‌‌Mach‌‌number‌‌of‌‌point‌‌at‌‌point‌‌1‌‌                                     

and‌ ‌we‌ ‌can‌ ‌then‌ ‌look‌ ‌at‌ ‌iterating‌ ‌this‌ ‌slightly.‌ ‌So,‌ ‌so‌ ‌as‌ ‌to‌ ‌satisfy‌ ‌even‌ ‌more‌ ‌closer,‌ ‌this‌‌                                   

particular‌‌condition.‌‌So,‌‌you‌‌can‌‌do‌‌a‌‌little‌‌bit‌‌of‌‌iteration‌‌and‌‌exact‌‌number‌‌is‌‌very‌‌close‌‌to‌‌                                   

0.057965.‌ ‌So,‌ ‌you‌ ‌see‌ ‌if‌ ‌you‌ ‌take‌ ‌the‌ ‌third‌ ‌decimal‌ ‌place‌ ‌they‌ ‌are‌ ‌almost‌ ‌the‌ ‌same‌ ‌0.058‌‌                                 

because‌ ‌this‌ ‌is‌ ‌0.058.‌‌ ‌  



‌ 

So,‌ ‌this‌ ‌is‌ ‌known.‌ ‌So,‌ ‌once‌ ‌you‌ ‌know‌ ‌this‌ ‌you‌ ‌know‌ ‌that‌ ‌L*‌ ‌,‌ ‌that‌ ‌is‌ ‌L*you‌ ‌can‌ ‌get‌ ‌by‌‌                                       

finding‌ ‌out‌ ‌what‌ ‌is‌ ‌  ‌for‌ ‌this‌ ‌Mach‌ ‌number.‌ ‌This‌ ‌is‌ ‌turns‌ ‌out‌ ‌to‌ ‌be,‌ ‌  ‌207.14‌ ‌.‌ ‌D
4fL*

D
4fL*

=    

Therefore‌ ‌ 1035.69‌ ‌meters.‌‌ ‌L* =   

So,‌ ‌any‌ ‌length‌ ‌which‌ ‌is‌‌smaller‌‌than‌‌this‌‌ ‌will‌‌not‌‌have‌‌a‌‌choked‌‌flow.‌‌So,‌‌this‌‌is‌‌a‌‌nice‌‌                L*                        

applied‌‌problem‌‌where‌‌pressure‌‌ratio‌‌was‌‌given‌‌across‌‌the‌‌reservoirs‌‌and‌‌then‌‌the‌‌length‌‌was‌‌                             

the‌ ‌maximum‌ ‌length‌ ‌at‌ ‌which‌ ‌choking‌ ‌would‌ ‌occur‌ ‌is‌ ‌taken.‌‌ ‌  

‌ 

So,‌ ‌there‌ ‌are‌ ‌2‌ ‌problems.‌ ‌So,‌ ‌we‌ ‌have‌ ‌covered‌ ‌a‌ ‌problem‌ ‌in‌ ‌subsonic‌ ‌flow‌ ‌a‌ ‌problem‌‌                               

involving‌ ‌supersonic‌ ‌flow‌ ‌and‌ ‌shocks‌ ‌and‌ ‌an‌‌applied‌‌problem.‌‌And‌‌this‌‌covers‌‌Fanno‌‌flow‌‌                           

which‌ ‌is‌‌one‌‌of‌‌the‌‌driving‌‌changes‌‌of‌‌compressible‌‌flow‌‌in‌‌ducts.‌‌So,‌‌we‌‌have‌‌discussed‌‌2‌‌                                 

drivers‌‌one‌‌is‌‌variable‌‌area‌‌the‌‌other‌‌one‌‌is‌‌flow‌‌with‌‌friction.‌‌Now‌‌one‌‌more‌‌driver‌‌is‌‌flow‌‌                                   

where‌ ‌there‌ ‌is‌ ‌heat‌ ‌transfer.‌ ‌ 

‌ 

When‌ ‌you‌ ‌consider‌ ‌heat‌ ‌transfer‌ ‌you‌ ‌do‌‌not‌‌consider‌‌varying‌‌area‌‌or‌‌friction‌‌that‌‌kind‌‌of‌‌a‌‌                                 

flow‌ ‌is‌ ‌known‌ ‌as‌ ‌Rayleigh‌ ‌flow‌ ‌which‌ ‌we‌ ‌will‌ ‌see‌ ‌in‌ ‌the‌ ‌next‌ ‌class,‌ ‌thank‌ ‌you.‌ ‌ 

‌ 

‌ 


